Smayel| (R<I)L) #EeEIE

(EBFOES)
B ARBOSIF 7o kty b5IF (FEIEF) (ARB) 7O0X#EY =g
3
[ )=l e oWV Iy O—X54F
<=
I
B/E [130] 625 10.5 B#/E [130] 595 125 I~
12.5 # =tk [105] 12.5 12.5 # =tk [105] [12.5 S
37.5 38.5 = THHIE
9 = THHIE Bihh v ~ L
[T BiAH v + WY T Ry O—XB A TER
5 | 5 | —~
% selYH ETL 3 ~ o § sglf v ay) | ﬁﬂf 12
Lct ; g | LO ' ] it T
b ~ == 7 e <
S 0
11.5
31 %
=
ke =T T - ks
O Il O =
EK =) — EK =) =
Sk = Sk E
ol ol ] i
RE RE|
i i
mn L nn A L
[e>] [e>]
XEMEOTAARE, RECES— FEEMATEBLTVET,
- 14 BIEXLI23  HHEO=W2-103.5 20
i (=DW—151.5)
~S BOYH FTvay r|< | iﬂ%ﬁﬁf:‘cﬁ“ G EP))
oo | . Oe ]
= (1N 41 & 22 60
| T2 o . [\ﬁ
T 4
-~ nNR N|EE
—~ - N ? \ = = Lo
o = = =r -
~ e —— =
A ]
I % s
24 s
it
35 W ' 3.5 1.5
L DW=W.2+48 /115
2.5 W=2DW—96
HAT AR
ABOZIE
WREFR 196 246
N W (DW) 1948 (1022) 2448 (1272)
gfm:;zt‘ R0 870.5 1120.5
HEEF5 20
BRA=R : 2033 (2016)
WM o5 ko o—x - 2033 2020)




